BA-7072-05 Page: 1

[E2 A ENGIN] Longooard Mouns

Erﬁm Accessonias Kawasaki VN1600 Classic/Nomad/V N2000/V NS00
= B‘r—ﬂ"c:z?mr ot -

—

Revision: 1.1 - 02/19/2010

INCLUDED IN THE KIT:
(2) - M6 Set Screws (installed) (4) - M8x20 Cap Head Screws
(4) - M5 Set Screws (installed) (2) - Longboard Mounts

INSTRUCTIONS:

NOTE: We recommend the use of blue Loctite on all fasteners/fmounting hardware.

e Unhook spring from under side of stock floorboard.

e Remove E-clipsfrom stock pivot pinsand remove pins. Retain pin and E-clip asthey will bereused. The
spring will not be reused.

e |nstall new floorboard mountsto frame wher e stock boards were removed, using hardware removed in
previous step.

Attach new L ongboards onto mounting bracketsin desired position using supplied M 8 cap-head screws.
NOTE: not all positions may be usable in all applications.

After mounting screws aretightened, tighten set screw on each end of mount bracket to hold mounting
screwsin place.

Adjust hed shifter soit does not touch floor board during downshifts. NOTE: heel shiftersareremovable
on most models.

e Useset screw on bottom of mount bracketsto set desired angle to boar ds.

Our ingtall guides provide a basic outline on the proper installation of our products. Further tuning and/or
fitment may be required. Barons bears no responsibility on installation costs associated with this product.
© 2024 Bar ons Custom Accessories

5221 Oceanus Drive * Huntington Beach, CA 92649 < (657)200-3840 - Ph. * (714)901-0520 - Fax * www.baronscustom.com ¢ tech@baronscustom.com



